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Exercise 10 1 Fill In The Blanks

1. The centre of a circle lies in .............. of the

circle.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Vy280qoKYY1j


2. A point, whose distance from the centre of a

circle is greater than its radius lies in ..................

Of the circle.

Watch Video Solution

3. The longest chord of a circle is a ........... of the

circle.

Watch Video Solution

https://dl.doubtnut.com/l/_Vy280qoKYY1j
https://dl.doubtnut.com/l/_D9Ewd3hUx9Yg
https://dl.doubtnut.com/l/_9MXNAewVCzd1
https://dl.doubtnut.com/l/_xqnWskbz4Y9v


Exercise 10 1

4. An arc is a ........... When its ends are the ends

of a diameter.

Watch Video Solution

5. Segment of a circle is the region between an

arc and ........... of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_xqnWskbz4Y9v
https://dl.doubtnut.com/l/_qNaxO5JH1XXn
https://dl.doubtnut.com/l/_2u76aubeooye


1. A circle divides the plane, on which it lies, in

............. parts.

Watch Video Solution

2. (True/ False) Line segment joining the

centre to any point on the circle is a radius of

the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_2u76aubeooye
https://dl.doubtnut.com/l/_d0ZobAc8OBoW


3. (True/ False) A circle has only finite number

of equal chords.

Watch Video Solution

4. (True/ False) If a circle is divided into three

equal arcs each is a major arc.

Watch Video Solution

https://dl.doubtnut.com/l/_4aGRZcGMIO5z
https://dl.doubtnut.com/l/_ZbhGwCVrj0pK


5. (True/ False) A chord, which is twice as long

as its radius is a diameter of the circle.

Watch Video Solution

6. (True/ False) Sector is the region between

the chord and its corresponding arc.

Watch Video Solution

7. (True/ False) A circle is a plane figure.

https://dl.doubtnut.com/l/_yGQAsghYAqg2
https://dl.doubtnut.com/l/_GCWN6Gz636YQ
https://dl.doubtnut.com/l/_iprmIsRm4yfA


Exercise 10 2

Watch Video Solution

1. Recall that two circles are congruent if they

have the same radii. Prove that equal chords

of congruent circles subtend equal angles at

their centres.

Watch Video Solution

https://dl.doubtnut.com/l/_iprmIsRm4yfA
https://dl.doubtnut.com/l/_kkngqDOBBhJp


Exercise 10 3

2. Prove that if chords of congruent

circlessubtend equal angles at their centres,

then the chords are equal.

Watch Video Solution

1. Draw different pairs of circles. How many

points does each pair have in common ? What

is the maximum number of common points ?

https://dl.doubtnut.com/l/_IcMSgzCPyvWv
https://dl.doubtnut.com/l/_PFEP1vomJpnd


Watch Video Solution

2. Suppose you are given a circle. Give a

construction to find its centre.

Watch Video Solution

3. If two circles intersect at two points, prove

that their centres lie on the perpendicular

bisector of the common chord.

Watch Video Solution

https://dl.doubtnut.com/l/_PFEP1vomJpnd
https://dl.doubtnut.com/l/_dL8rRSD4FG0w
https://dl.doubtnut.com/l/_e5ZB8m8HGTGJ


Exercise 10 4

1. Two circles of radii 5 cm and 3 cm intersect

at two points and the distance between their

centres is 4 cm. Find the length of the

common chord.

Watch Video Solution

2. If two equal chords of a circle intersect

within the circle, prove that the segments of

https://dl.doubtnut.com/l/_qDf4OGtVSOku
https://dl.doubtnut.com/l/_gCqw7VSdtZpk


one chord are equal to corresponding

segments of the other chord.

Watch Video Solution

3. If two equal chords of a circle intersect

within the circle, prove that the line joining

the point of intersection to the centre makes

equal angles with the chord.

Watch Video Solution

https://dl.doubtnut.com/l/_gCqw7VSdtZpk
https://dl.doubtnut.com/l/_lfd5KfMnpEOP


4. If a line intersects two concentric circles

(circles with the same centre) with centre O at

A,B,C and D, prove that AB = CD 

Watch Video Solution

https://dl.doubtnut.com/l/_XHzWhdtBVPCb


5. Three girls Reshma, Salma and Mandip are

standing on a circle of radius 5 m drawn in a

park. Reshma throws a ball to Salma, Salma to

Mandip, Mandip to Reshma. If the distance

between Reshma and Salma and between

Salma and Mandip is 6 m each, what is the

distance between Reshma and Mandip ?

Watch Video Solution

https://dl.doubtnut.com/l/_CRoP8TBY5tOM


Exercise 10 5

6. A circular park of radius 20 m is situated in a

colony. Three boys Ankur, Syed and David are

sitting at equal distance on its boundary each

having a toy telephone in his hands to talk

each other. Find the length of the string of

each phone.

Watch Video Solution

https://dl.doubtnut.com/l/_L7u7pHoIbOBI


1. A,B and C are three points on a circle with

centre AO such that

. If D is a point

on the circle other than the are ABC, find

 


Watch Video Solution

∠BOC = 30∘ , ∠AOB = 60∘

∠ADC

https://dl.doubtnut.com/l/_RkMxrn54QSCc


2. A chord of a circle is equal to the radius of

the circle. Find the angle subtended by the

chord on a point on the minor arc and also at

a point on the major arc.

Watch Video Solution

3. In the given figure, , where P,

Q and R are points on a circle with centre O.

Find .

Watch Video Solution

∠PQR = 100∘

∠OPR

https://dl.doubtnut.com/l/_Vm1cq4MKHreP
https://dl.doubtnut.com/l/_yUdpyPqghee9


4. In Fig.,

. 

Watch Video Solution

∠ABC = 69∘ , ∠ACB = 31∘ and ∠BDC

https://dl.doubtnut.com/l/_yUdpyPqghee9
https://dl.doubtnut.com/l/_J7ahy6iUVxHY
https://dl.doubtnut.com/l/_as9KKZYJklt2


5. In fig. 

, A, B, C,

D are four points on a circle. AC and BD

intersect at a point E such that

 and . Find 

.

Watch Video Solution

∠BEC = 130∘ ∠ECD = 20∘

∠BAC

https://dl.doubtnut.com/l/_as9KKZYJklt2


6. ABCD is a cyclic quadrilateral whose

diagonals intersect at a points E. If

, find .

Further, if AB= BC, find .

Watch Video Solution

∠DBC = 70∘ , ∠BAC  is 30∘ ∠BCD

∠ECD

7. If diagonals of a cyclic quadrilateral are

diameters of the circle through the vertices of

the quadrilateral, prove that it is a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_kWGuLi0yVjkP
https://dl.doubtnut.com/l/_Yx1sx0fIv5kT


8. If the non-parallel sides of a trapezium are

equal, prove that it is cyclic.

Watch Video Solution

9. Two circles intersect at two points B and C.

Through B, two line segments ABD and PBQ

are drawn to intersect the circles at A, D and P,

Q respectively (see Fig.). Prove that

https://dl.doubtnut.com/l/_Yx1sx0fIv5kT
https://dl.doubtnut.com/l/_OczAzoZEFAnn
https://dl.doubtnut.com/l/_76Qj30yuM3QQ


. 


Watch Video Solution

∠ACP = ∠QCD

10. If circles are drawn taking two sides of a

triangle as diameters, prove that the point of

intersection of these circles lie on the third

side.

https://dl.doubtnut.com/l/_76Qj30yuM3QQ
https://dl.doubtnut.com/l/_fkcEKeBfyivJ


Watch Video Solution

11. ABC and ADC are two right triangles with

common hypotenuse AC. Prove that

/_CBD`.

Watch Video Solution

∠CAD =

12. Prove that a cyclic parallelogram is a

rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_fkcEKeBfyivJ
https://dl.doubtnut.com/l/_A1qnBzRR3PiP
https://dl.doubtnut.com/l/_zkUBaBCm9r3W


Exercise 10 6

1. Prove that the line of centres of two

intersecting circles subtends equal angles at

the two points of intersection.

Watch Video Solution

2. Two chords AB and CD of lengths 5 cm and

11 cm respectively of a circle are parallel to

each other and are on opposite sides of its

https://dl.doubtnut.com/l/_zkUBaBCm9r3W
https://dl.doubtnut.com/l/_Bu0mumu1RHsU
https://dl.doubtnut.com/l/_tFKBssjzvF50


centre. If the distance between AB and CD is 6

cm, find the radius of the circle.

Watch Video Solution

3. The lengths of two parallel chords of a circle

are 6 cm and 8 cm. If the smaller chord is at a

distance of 4 cm from the centre, what is the

distance of the other chord from the centre ?

Watch Video Solution

https://dl.doubtnut.com/l/_tFKBssjzvF50
https://dl.doubtnut.com/l/_8FwCobxzre6L


4. Let vertex of an angle ABC be located

outside a circle and let the sides of the angle

intersect chords AD and CE with the circle.

Prove that  is equal to half the

difference of the angles subtended by the

chords AC and DE at the centre.

Watch Video Solution

∠ABC

5. Prove that the circle drawn with any side of

a rhombus as diameter, passes through the

https://dl.doubtnut.com/l/_FtrYivi8mAWl
https://dl.doubtnut.com/l/_fK7lJzXqmhTd


point of intersection of its diagonals.

Watch Video Solution

6. ABCD is a parallelogram. The circle through

A, B and C intersect CD (produced if necessary)

at E. Prove that AE = AD.

Watch Video Solution

7. AC and BD are chords of a circle which bisect

each other. Prove that (i) AC and BD are

https://dl.doubtnut.com/l/_fK7lJzXqmhTd
https://dl.doubtnut.com/l/_vdUfOPl2pO3g
https://dl.doubtnut.com/l/_TcHSklJyOFEw


diameters, (ii) ABCD is a rectangle.

Watch Video Solution

8. AC and BD are chords of a circle which bisect

each other. Prove that (i) AC and BD are

diameters, (ii) ABCD is a rectangle.

Watch Video Solution

9. Bisectors of angles A, B and C of a triangle

ABC intersect its circumcircle at D, E and F

https://dl.doubtnut.com/l/_TcHSklJyOFEw
https://dl.doubtnut.com/l/_qKpg5AQozWz3
https://dl.doubtnut.com/l/_W7CDfPSEPvnu


respectively. Prove that angles of the triangle

are  and 

respectively.

Watch Video Solution

90∘ − , 90∘ −
A

2

B

2
90∘ −

C

2

10. Two congruent circles intersect each other

at points A and B. Through A any line segment

PAQ is drawn so that P, Q lie on the two circles.

Prove that BP = BQ.

Watch Video Solution

https://dl.doubtnut.com/l/_W7CDfPSEPvnu
https://dl.doubtnut.com/l/_6VFKrBkb1Pm9
https://dl.doubtnut.com/l/_m3PxwM06Ep6B


Objective Type Questions State Whether The

Following Statements Are True T Or False F

11. In any triangle ABC, if the angle bisector of

 and perpendicular bisector of BC

intersect, prove that they intersect on the

circumcircle of the triangle ABC.

Watch Video Solution

∠A

1. The perpendicular from the centre of a circle

to a chord bisects the chord.

https://dl.doubtnut.com/l/_m3PxwM06Ep6B
https://dl.doubtnut.com/l/_IvCtTZLsAVrs


Watch Video Solution

2. Equal chords of a circle (or of congruent

circles) are equidistant from the centre (or

corresponding centres).

Watch Video Solution

3. Chords of a circle (or of congruent circles),

which are equidistant from the centre (or from

the corresponding centres) are equal.

https://dl.doubtnut.com/l/_IvCtTZLsAVrs
https://dl.doubtnut.com/l/_Ipy33hpLbz1w
https://dl.doubtnut.com/l/_5Q7RKyMMWrsz


Watch Video Solution

4. Fill in the Blanks: 

The line drawn through the centre of a circle

to ______ a chord is perpendicular to the chord.

Watch Video Solution

5. There is one and only one circle passing

through three non-collinear points.

Watch Video Solution

https://dl.doubtnut.com/l/_5Q7RKyMMWrsz
https://dl.doubtnut.com/l/_KSiiUWwQ184T
https://dl.doubtnut.com/l/_otAqNyXd6Lhu


6. Prove that the angles in same segment of a

circle are equal. 

Watch Video Solution

7. The sum of opposite angles of a cyclic

quadrilateral is complementary .

Watch Video Solution

(180)

https://dl.doubtnut.com/l/_yz9mmsYj4vGJ
https://dl.doubtnut.com/l/_QM6dozEJooaQ


8. Congruent arcs (or equal arcs) of a circle

subtend equal angles at the centre.

Watch Video Solution

9. An exterior angle of a triangle is equal to

the sum of the two interior opposite angles.

Watch Video Solution

https://dl.doubtnut.com/l/_qVKbD8PCcl38
https://dl.doubtnut.com/l/_D0k2VgxSME3R


Objective Type Questions Fill In The Blanks

10. A chord divides the circumference of a

circle into two parts and each part is called an

are.

Watch Video Solution

1. ............... is the longest chord of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_4a0lPH5VrVPM
https://dl.doubtnut.com/l/_8j2MQLh05AE3
https://dl.doubtnut.com/l/_5H3hkLumWlNJ


2. The angle in a semi-circle is a ........

Watch Video Solution

3. Angles in the same segment of a circle are

.........

Watch Video Solution

4. Equal chords of a circle are ...................... from

the centre.

https://dl.doubtnut.com/l/_5H3hkLumWlNJ
https://dl.doubtnut.com/l/_yqU4zxRTdSSy
https://dl.doubtnut.com/l/_5SovwI0noAIa


Watch Video Solution

5. The angle which an arc of a circle subtends

at the centre is ........... that which it subtends at

any point on the remaining part of the

circumference.

Watch Video Solution

6. If ABCD is a cyclic quadrilateral thcn

 = .........

Watch Video Solution

∠A + ∠C

https://dl.doubtnut.com/l/_5SovwI0noAIa
https://dl.doubtnut.com/l/_7Trn8dYMZnSz
https://dl.doubtnut.com/l/_IztRbkNOJX54


7. If sum of a pair of opposite angles of a

quadrilateral is , the quadrilateral is……

Watch Video Solution

180∘

8. When a quadrilateral is inscribed in a circle

i.e. the vertices of the quadrilateral lie on the

circumference of a circle then the

quadrilateral is called.................

Watch Video Solution

https://dl.doubtnut.com/l/_IztRbkNOJX54
https://dl.doubtnut.com/l/_zCYd8sjPGw8R
https://dl.doubtnut.com/l/_d8EIUIm2ddd6


9. In the adjoining figure

…….. 


Watch Video Solution

∠AOC = 110∘ ,  then ∠ADC =

https://dl.doubtnut.com/l/_d8EIUIm2ddd6
https://dl.doubtnut.com/l/_icLMMVkoDIXs


10. In the adjoining figure

 …….. 


Watch Video Solution

∠ACB = 70∘ ,  then ∠ADB =

https://dl.doubtnut.com/l/_jOTuOb0lUlbk

